BTSN SRR ANFEF SR (A HIERE) (2B 2 R EOAKE I HOWT
CAT —7>
HEFE S &5 — ek 2
bk B wpn |FEAR| mmEn |awew| 5T REORE | o g At
(N) (N) (N) OO s = OO OO
OB Bk 1 PG 360 | fEfE 124 36 502| 1.55 324 —
— £ iy 40 |HE 75 12 103| 3.68 28 —
o EE 2 ST 320 | HE 109 33 465| 1.62 287 —
— S 40 |HEHEE 20 17 26| 1.13 18 —
HE 107 107
T — woA 240 305| 2.54 120 —
& " e 34 13
Ja—rLE YR A
ESITHES — LEE VXA 280 HeMs 198 141 255) 2.02 126 —
I TEY XA B th, 59 13
. HERE 42 42
1 & 240 382| 2.21 173 —
W (5 JEI - 2, 25 25
i EiE1 FRARTE 40 HERS 2 2 16| 0.52 10 3
Fr e, 7 7
o FE R4t W 320 | HE 124 49 835| 3.08 271 —
. 304
1724 1 & 360 | HEH 74 53 744| 2.42 |. —
B J2 =R i | HepE Ak 3
2 H Bk 1 G 320 |5 164 48 874| 3.21 272 —
\ Eiid) = 87 61
2 ] 320 568| 2.21 257 —
%ﬁ%% )%%E = puiE %@}\ 7 9
I TT
bk
&= TR — E R 240 | 5 12 12 353| 1.55 210 3
TRV F— AT A
TR F—{bF
e . HEpE 30 30
i 2 A 5@ 320 278| 1.11 232 1
WH = e Bk L pe g 13 10
HERE 18 18
we — woa 200 216| 1.31 96 5
e " Hefa, 17 17
\ HERE 133 64
2 M SE 320 598| 2.35 254 —
FAE | Rik2 S 280 ?E% 34 34| 369 1.50 215 —
HEGE | RR2 % 320 | 3% 88 57|  495| 1.88 263 —
ohy b LEF
FRIFTHR | — ng Z 20| T & A 16| 1.06 116 —
==N X
BT TH K, 36 31
\ HERE 39 39
ooy 1 M @ 240 329| 1.90 173 —
4 e v ) 36 28
SR Bk 1 ! 320 | HE 65 65 473| 1.85 255 —
EAF JEAE 2 M IE 320 | HEHE 45 45 444 1.61 275 —
HERE 24 24
we — woA 160 264| 2.36 96 —
Rl " e, 24 24
VAN Bk 1 ! 320 | HE 85 48 384| 1.41 272 —
- HE 33 33
\ 1 A 5@ 280|7* 550| 2.25 241 1
/J % )%%E =] 1H 571\}\ 5 3
#o)l JEAE 2 A @ 320 |HEFE 82 64 509 1.99 256 —
S Bk 2 ! 320 | HE 124 32 435 1.51 288 —
— |7y vva L hlk 40 |HE 37 20 39| 1.95 20 —
—&t R4 g 200 | HE 28 28 270| 1.57 136 1




HERS SR — iR S
- " ~ o | TSR | 4 — R | 3 2 IRk
Sp 4, 7t R4, PHENE ERERC | SRR T | WRORE | st | A
—Erd FRAE 1 R 320 | HE 91 50 467| 1.73 270 —
I TT
— Mk — 160 HeRS 29 29 164| 1.40 104 1
—= LR HOR | | B th, 15 14
| BETHA | HERE 9 9 o
W% | 80 Ko, 11 10 L2 61
2Ry b TA
— R - 120 |HfEE 30 30 114| 1.27 90 —
— B TR E L |
. S
— ?iﬁﬁ'j L 80| 16 16 65| 1.02 52 2
—'B ¥ — i?{’fijji — 240 ﬁ? z‘;’ ?2 182 1.41 113 1
JE Rt S| B 280 |HEE 76 49 599| 2.59 231 —
b HERE 11 10 23
— E| FRPETE . .
[EI RS HEST 40 bt . ) 30| 1.15 - 0 2
IE 2 G 80 [HEHEE 9 9 135 1.90 51 1
I E Y % A J» HEHE 37 37
. . — = 120 152| 2.45 62 —
PEE g 2] I TEYRA B th, 23 21
. - HEHS 7 7 -
& ik 40 bt 6 6 22| 0.81 9
P R4t ! 120| HE & 1 1 106] 0.89 52 1
_ E=TTE HepE 6 6 o
= 40 g 0 o 23| 0.88 14
. Eiid) = 0 0
S ” — = 40 32| 0.89 16 —
TRk R AF ROREA B fh, 4 4
o s HERE 1 1
— =iy : ) —
BRBE T A 40 g g 9 21| 0.68 15
e HEE 6 6
— v N J—
EER 40 Wt 0 o 22| 0.85 12
> . HEpE 22 22
7 Sz % . 7
FHE BiE 1 i | 240 Wt 5 3 246| 1.14 163
B e HEpE 21 21 o
RERE 80 s 7 6 67| 1.56 41
— i E% [ 2% 40 Hels 12 12 34| 1.55 21 —
S 2 i 6 6
h RimBle 40 Hels ; ; 41| 1.58 19 —
Fr o, 5 5 )
i e 10 10
— v N J—
EER 40 Wt g g 32| 1.45 20
s R J» Heps 49 49 -
- ETDEE] 240 s i i 243| 1.62 109
BRIt A E 200 Hels 17 17 232 1.34 115 1
e ) 12 10
— Jff:_’f:;ij» 80 ﬁi 13 1;1 78| 1.39 ] —
VA EYes 5 N
Y R 2 W @ 320 | HE B 82 51 595| 2.21 269 —
Bk 2 W5 240 | HE 109 46 519| 2.68 194 —
K — ARl 80 ﬁ? ?i 33 105| 3.09 34 —
. . HEHE 5 5
3 3t sifz Eﬁ X _
Wi 3k G 80%@ . X 63| 0.85 32
B W — woA 240 | HEHE 110 110 215| 1.65 130 —




HERS SR — iR S
N A PN - RIS | 82 iRk
Sp 4, B R4 FENR| ERER BB g MO aiEm | AR
(N) " (N) (N)
I . HERE 0 0
Y= = 5@ 200 ) —
K A i) L WEA 41 29 248| 1.54 112
EHAE = LG 360 |t 114 60 642 2. 14 300 —
B MR = E E 360 | HEHE 53 53 557| 1.81 307 —
. HERE 2 2
AN = A @ 80 32| 0. —
53 ) | v A A 0.43 15
— HERE 9 9
= It 5@ 80 61| 0. —
2 B 7 L He gy ) 3 90 33
2
I%,TIW% e 97 97
A=W — 240 213] 2.29 93 —
LA EEZES Kr 63 50
B LY CANESDN 0 0
i VR . HERE 109 40
woIg = M @ 400 486 1. —
[if] iA] L | He s A 0 1.35 360
[if] 5 7 = wE 360|HEE 72 53 667| 2.17 i 30? —
= G 120 |HE 5 8 8 151] 1.35 67 —
"o — HEIET YA v 80 [HE 13 13 42| 0.63 32 —
— L E R 40 | HE 21 20 19| 0.95 17 —
7a—rOLE YR A
mistEE | — [ BFeoxx | b seofF 165 1610 el oy 10| —
ITeEY xR | B fh, 21 19
Bk HERE 45 45
— = — 160 181 2.03 —
- BrTFE | B o7 26 8
| BETHA L 80 HEE 24 24 g1l 180 13 o
A || Ko, 12 11 :
. o . Eiid) = 111 51
X 4 = ] 400 675| 1. —
[N 7 L v 0 0 1.93 349
= G 240 | HEHE 66 47 496| 2.57 193 —
7Y . HERE 35 35
— v 80 60| 1. —
AETE SR bt 5 0 1.76 34
FE: } e 29 29
— 80 65| 1.48 44 —
S Ko, 15 7
_ HERE 7 7
— |75 u—Hq =z 40 27| 0.90 19 —
B th 7 3
et HERE 20 20
Ik — T ARES 40 37| 2.1 —
ZE AR B vy A 3 8 12
HERE 20 20
— Rk 40 18| 1.00 12 —
EL7p SR vy 6 0
- HERE 8 8
— AR 40 45| 1.50 29 —
RAMERBE v g 0
(LYY = 3 ! 320 | HE 92 64 515 2.01 256 —
U . HEHE 9 8
= A 5@ 160 297| 2. —
. ok L] we e 0 0 09 131
e HEHE 7 7
o A N2 40 61| 2. —
1T A we e 6 6 2.26 27
- . HE 174 119
n — woa 240 ) —
FSIBRYA & SE A ) | 281| 2.34 120
= G 200 | HEEE 23 23 212 1.20 131 2
&k _ HERE 9 9
— 5 Ak 40 21| 0.78 18 —
& A B th, 4 4
W b = T @ 200 | HEHS 55 39| 475] 2.95 161 —
- — HETESTAE, 80 |HfE 38 38 29| 0.69 24 1




HERS SR — iR S
- ” A o | TSR | 4 — R | 3 2 IRk
—+= AN
Sp 4, B spgy | FRAR| BEER A AR G O G | Tl
= i g dE 240 ﬁ? S; ‘113 349] 1.92 182 —
REECR >
i — | EETY A 40| TEHS 23 20 43| 3.91 11 —
Fr e, 11 9 ‘
2Ry LA
— g Bk — 200 |HEE 111 100 142| 1.42 100 —
s LR E A |
BTV A
— o — — 80 |HEE 46 40 67| 1.68 40 —
A L5
rua—/LE YRR
EAEEE — LHPEUXR |- 240 HeMs 185 120 219] 1.94 113 —
I TEYXA B th, 21 7
HERE 1 1
& L = wE 80| K, 1 1 55| 0.87 14 —
i 15 15
= S| 280 |HEE 70 42 480| 2.02 238 —
Es S o =
it — MAYE VR A 40 ﬁ? 13 12 34| 1.42 20 —
Eiid) = 37 37
s S . K th, 25 25
y 5 | = 0. e 120 120] 2.93 31 3
HEH B 1] = 1H S A 99 13
pH 4 4
— B R 40 |HEHE 10 10 26| 0.87 22 —
ES7 _ HERE 8 8
— & ik 40(75" 18| 0.75 9 —
B th, 8 8
AR — woa 240 | HE 124 120 280 2.33 120 —
Eiid) = 0 0
T B S | — A& HAR 40 |, 2 2 37| 1.00 13 —
JHHE 1 1
L Bk 2 ! 320 | HE 150 40 612| 2.19 280 —
WARLS -
Rl — EEER 40| HEHE 35 12 59] 2. 11 28] —
My wk |[RIE1 ! 320 | HE 73 51 604| 2.25 269 —
mNxLIIE | RIE2 M 5@ 280 |t 67 37 626| 2.58 243 —
EiE1 ! 320 | HE 56 37 692| 2.45 283 —
LRSS — Bl 40| e 20 20/ 59| 2.95 | 1? -
GiALE] S — w A 240 ﬁ? 211 122 303| 2.66 114 —
HzEEpEE | — | Rkevxx IBOﬁf SZ‘ 22 123| 1.89 65 —
— CR i 40 | RS 14 14 56| 2.15 26 —
— W 40 |HE 39 20 92| 4.60 20 —
— BEL AT L 40 | HEpE 27 20 43| 2.15 20 —
iy T2 — | #Hiv AT A 40| HERE 34 20 43| 2.15 20 —
— AL FUT 40 |HE 32 20 36| 1.80 20 —
— TWA 40 |HE 44 20 87| 4.35 20 —
— |\ 40 | HEHE 33 20 36| 1.80 20 —




<BZL—7F>

HEFE S & — ek 2
= % A v | BREE | — SR | B 2 Kk
H 4, B gy | FRAR| BEESC | SRER LT O s Ce” |
J2E 2 S| 280 |HEpE 108 29 594| 2.37 251 —
T A — [E B #s 80| HEEE 43 24 124 2.21 |. 40 —
HES 16
- . HERE 3 3
& A 3FH —
5 J2E 2 & JH# 160 e 12 12 150 1.03 99
BT M
o T
TR Il 4
FHMWE LR | — E A =  320|#EE 40 39 627 2.23 281 —
B EW
O
FHAL T U
EE 2 ST 280 | HE i 125 39 683| 2.83 241 —
B BB — T W 40 |HEHE 28 20 51| 2.55 20 —
— O 40 |HE 15 15 45| 1.80 25 —
L EVE | RIE1 LG 360 | 106 55 842| 2.76 305 —
. HERE 58 58 247
S 1 A @ 320 779 3.15 |, —
) ik LG he s a7 15 i 0
. HE 64 64
A — woA 240 ) —
R A bt 29 2l 187| 1.29 145
e FEiE 1 G 360 | HE 122 72 746| 2.59 288 —
X H JBIE 1 G 360 | 114 59 946| 3.14 301 —
HERE 22 22
B th, 44 34
I35 Fn — [FXYVUTEVRA 240 . —
HIEF ¥ U F WEA 20 ) 172| 1.04 126
A H 4 4
e . HERE 22 22
WA 2 ] 200 347| 2.
WP ik L] ey o7 . 22 123 1
ohy b LEF
— [ 120 Hes 4 4 96| 0.94 59 —
W TR HEM T Ko, 16 14
e e e HEHE 21 21
— T2 N 80 60| 1.2 —
ETYA Wt o o 2 43
FHIEHE | RELEL I @ 160 |HE i 12 12 203| 1.37 109 1
FEHME |RBIE2 ! 360 | HE 95 69 609| 2.09 291 —
o Ev xR J» 200| IS 41 A 90ol 1042 13 —
I TEYX A My g 17 17
ERHR HEE 9 T
— A 0] 21| 1.11 —
153k Wt 5 ) 9
DL J2iE 2 SutE| 360 |HEE 114 54 529 1.73 306 —
Ak Bk 1 ! 120 |HE 5 10 10 125 1.14 92 —
O BaE 1 A @ 240 | HEHE 36 36 348| 1.71 204 —
B R4t ! 240 | HE 43 43 318| 1.61 142 —
Ko NN HeE 12 12
— WA YR A 407" 29| 1.07 20 —
e B 3 |
B 1 L] 240 | HEE 97 48 459| 2. 39 192 —
B it HERE 39 20
— 5[5 400" 41] 2.28 —
ESIE S S by ) 5 18




HERS SR — iR S
- " ~ o | TSR | 4 — R | 3 2 IRk
Sp 4, 7t R4, FENR| ERER BB g MO aiEm | AR
(N) " (N) (N)
— ﬂﬁﬁt/zx — 160 HERS 30 30 127| 1.12 63 2
I TEYRA B th, 17 17
- _ ; HE 17 17 -
Fepili AETE L 40 s 9 6 32| 1.88 17
_ = %E% 6 §) -
& ik 40 s » o 19| 0.73 13
/NHCrE P2 gR 4L W 240 |HfHS 39 37 374| 1.84 203 —
R
— nﬁ%ﬁbﬁi% — 160 e 17 17 190| 1.73 108 1
/NECT R 0
A ] B th, 63 33
o L B HERE 4 4 B
fEwT 1 | e 15 15 oL 5
HE 75 75
LLLACON IN o YA N J—
BB w4 240%.}\ ; 3 296| 1.83 162
moE JBE 2 LT 320 |HEE 100 65 464| 1.82 255 —
¥ EiE1 G 280 | H#E 35 34 288 1.17 226 2
—E 5 Bk 1 G 320 |5 110 64 359| 1.40 256 —
—EHE | RE2 W @ 320 | #E 95 64 426| 1.66 256 —
B R4t ! 160 | HE & 53 24 327| 2.40 136 —
AN CAA HEHS 58 40
- /t‘gt‘ LA . —_—
AR S 80 g ; X 102| 2.62 39
) . i)~ 21 21
R Bk 2 L 240 g 19 18 310| 1.81 171
Eiid) = 49 49
Fos — /A\ AN _
A fn woA 240 g i i 188| 1.25 97
_ FE e B HEHE 17 17 -
- T 80 o A A 56| 0.95 36
- AETE b | gl 26 26 13| 0. 92 o7 o
FAT7A—F 4 F—h| | A H 2 ’
gy PTE
— [T, — 120 Hels ) ) 135 1.27 52 —
Z9H TR BT TH Ko, 6 5
B N RS 5 5 o
BET A 40 et 6 ) 39| 1.22 19
JEaRIt o E 160 ﬁ? ;lé 23 210 1.96 107 —
= M HERE 7 7
4 i e ge _
JE2L)S: H RS 40 et 00 0 37| 1.61 23
EIE S Bk 2 ! 280 | HE 34 33 290| 1.17 233 4
HE 95 43
A sifz -
¥ H i1 L | 320 we e 5 5 403| 1.47 275
2Ry T
— B R — 160 |HEpE 35 35 118] 0.94 74 1
de [ TR E A ]
SR
— @gizi/ -~ 80|HERS 14 14 75 114 5| —
%
FRZHE Bk 2 ! 320 | HE 63 62 423| 1.64 258 —
. HEpE 108 108
3 S _ G AN _
R R AR 240 s 19 17 150| 1.30 114
- HE 48 48
KB PR 4L G 240 s 10 o 377 2.05 184




HERS SR — iR S
A, 7t R4, %%@E ‘D’?%?ﬁ ﬂfﬁﬁ @ K }’fﬂﬂg olEE | omEK
(N) " (N) (N)
HERE 12 12
— |ba—<H”7T 40 17| 0.68 11 —
B e =TT s 3 3
— e E 40 |HE 21 20 34| 1.70 20 —
FSIEZ2IRES — w A 280 ﬁi 112 “11(1) 238| 1.84 129 —
FA] A bE SRRk S| 280 |HEE 65 56 495| 2.21 224 —
HERE 26 26
WO JELEE e o aE 200 | Hr 2 20 20 223| 1.51 122 —
FANESPN 6 6
B |REL % @ 120 fﬁﬁ 2 g 147| 1.32 S
BEE | = W % 320 ﬁ? 72 43 526 1.89 | 2?3 —
2 M = o E 320 ﬁ? iz ?g 540| 2.27 238 —
2 B = o E 240 ﬁﬁ 6; 6$ 310 1.80 172 —
= o E 120 ﬁ? i ﬂ 99| 1.16 60 —
E ?&% 12 12
— |94 7a—F s x—t 40 tﬁé ; X 41| 1.64 25 —
— =¥ 80 ﬁ? fi fg 37| 0.86 31 —
— FREE T2 40 ﬁ? 12 1(5) 14| 0.56 11 —
IR ?&% 12 12
— | BETVA 40 %E;é ; . 17| 0.77 10 —
— GREFEES 40 f}i 22 22 23| 1.35 13 —
= ! 160 | HE 5 33 33 201| 1.58 127 —
= 4F . AR Bl 120 ﬁf ZZ 22 73| 1.92 38 —
= G 320 | HEHE 77 45 574 2.09 275 —
fifi I A . HERE 6 6
— e 40 43| 1.26 33 1
= B th 0 0
[if] IR B — woA 240 | HE 164 120 279] 2.33 120 —
B R
— T4 | 160 HeRs 63 63 132| 1.63 81 —
EOR i B th 18 16
ST s 3
N 17 — HT T 40 ﬁ? 1; 12 27| 1.59 17 —
R HEE 34 34
— -~ — 80 70| 1.79 39 —
BFWT 1 || Ko, 9 7
= H = W @ 240 Zﬁﬁ 42 42 219| 1.13 125 2
= L 240 ﬁ? IZ 42 336 1.78 189 —
L %E% 62 40
— BEEY XA 80 %é 1o g 76| 2.38 32 —
= ! 320 | HE 116 39 687| 2.44 281 —
1] 5
Mt — [ e g 40| Hes 38 18| 51 282 | 12 —




HERE B P % — B
. . . = —+ N N NS %ﬁﬁ% G #E&higyi%—% % 2 Ykigﬁi
Sp 4, 7t R4, FENR| ERER BB g MO aiEm | AR
(N) " (N) (N)
I TT
. i HERE 79 79
XA TR — 240 197| 1.40 111 2
EEZES
wOR B th, 29 20
LY = LG 360 | HEE 104 54 476| 1.56 306 —
e . . HE s 80 64
¥ = L 320 443| 1.75 —
LA ) L SLIE A ; ) 253
i = = @ 360 | 86 66 513| 1.74 294 —
B — woA 240 | HEE 122 121 180| 1.51 119 —
= S| 160 | HEE 7 7 218] 1.42 83 —
H R . HERE 5 5
— y 8o 74| 1. —
AETE AL v 6 . 1.06 40
FNE IR = G 360 | HE 93 65 431 1.46 295 —
R g = i 320 | HEHE 57 34 418| 1.46 286 —
. ; 286
R = A 320 | HE 55 34 423| 1.48 |. —
*mﬁ y =] Pl ?&% {ﬁ% 0
g 122 100
BAEE — woA 200 el 228| 2. —
is 8 AEA . A 2.38 96
= G 160 | HEE 40 32 189 1.48 119 —
K = — MAYE VR A 40 |HEHE 27 20 32| 1.60 20 —
— AETE U 40| HEFE 11 11 32| 1.10 23 —
FEES J» e 35 35
— e 80 35| 1.13 25 1
it 5% 2% B th, 14 14
. . . 13 13
y E;Ej; _ [N 40 ‘T’E% )
EEREE B he A ) 13| 0.52 10 1
. HERE 8 8
— N 40 14| o. —
AETERL v A . 0. 50 7
o . HE 56 56
3 = A @ 280 452| 2. —
INRFHE "] L | v i 16 2.17 208
ohy b LEF
SILTHE — *ff ?f 240/ T 89 9 205 1.39 113 1
B X\
HEWT A v SE A 3 3
TR IR = 3 ! 160 | HE 5 49 32 199| 1.55 128 —
o e 17 17
_ YA PERL 2L 40 18| 0. -
HER W 0 5 0. 86 15
— R sG] 40 Hels 13 13 20| 0.80 12 —
e Hrh, 2 2
= IKPE e 2 o
— HEEE TR 40(7°7 33| 2. —
HHEE R v 9 5 2. 06 16
HE 22 21
— 0 40 ) —
N s ) 5 15| 0.88 12
— wE CrHER) 120 HERS o3 o3 59| 1.23 45 —
. . ) 20 19
A HbE HEE o 50
— wa (PR 120]7°7" 36| 1. —
& (%) ¥ 29 o7 1. 09 28
U . HEHE 0 0
= ST 40/ 41 0. *
. ok L] S r 6 0.17 0
H HE 1 1
— : 40(15 4] 0. —
o - ; . 0.13 4
A BAE 1 A @ 320 | HE 78 32 842| 2.92 288 —
— S 40 |HE 1 19 18 23| 1.05 14 —
AL Bk 2 ! 320 | HE 5 132 50 733 2.71 270 —
- — |7rvvarx 40| H#EE 28 20 41| 2.05 20 —




HERS SR — iR P S
- ” A sy | EREE | 4 — R | 3 2 IRk
A T e | FENR| BIEER ERER G | B kel | oo
(N) " (N) (N)
o . HERE 37 37
2 W 280 461| 2.00 231 —
M ;”: %%E =] 1H qué 93 12
MYLEH | RBEL R 280 | HE 64 56 361| 1.61 224 —
FTT7 4 AR A
W4 HREYE — |[Ze—raevxx 280 HeRS 129 123 305| 2.77 110 —
I TEY XA B th, 56 47
— R 40 |HEHEE 28 20 49| 2.45 20 —
— R i 40 e 19 19 32| 1.52 21 —
. — EEIED 40 |HEHEE 27 20 37| 1.85 20 —
T
sz T3 — E O 40| HEpE 20 20 33| 1.65 20 —
— 15 W 40 | HEHEE 19 19 53| 2.52 21 —
— BRI 40| HEfE 20 20 31| 1.55 20 —
1%
1) TRE1 IREF IR, RBE2) ZREFE2E. [RBEL) 3RE1 - 2 EE
RLTWET,
(2)  THEES) IRHEHEERME. TR IXEREBH. TAMEAL IISNEAERSSRE, T2 X
4 B HIEALHRER, [ R A R L CVE T,

3
4

—HESEEICONTIE, HEEAEE [} | OREFTHLTRLTHY £7,
W2 UORIA AL, 2 B & £l L2 - FROATEH L TOET,




